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00 2.6 (Doob 00D0OOODO-0000 )

{X(n)} O (F,)-0000000000007T000 10000 (F,)-O0
00000 X(TAn,w)=X(T(w)An,w) 0 (F,)-00000000000
00G,=Fr\,-000000000000

00007,S0 T>S80000000 (F,)-000000

E(X(T) | fs) = XS a.s.

00 000070000 (F)-ODO0O0O0O0O0OU0ODOOUOOOUDOOO
ooooor<NOOoono

X(T(w),w)=X(0,w) + Z Lirsny (W) (X (n,w) = X(n—1,w)).

{T>n}y={T<n-1}€F, ., 000000k>n000
E (Lirsny (X(n) = X(n = 1)) | Fi) = Lirsny (X (n) — X(n — 1))
OO00{T>n}={T<n-1}e€F, ;0000
E(Lirsn(X(n) = X(n—1)) | Fac1) = Lirsny (B(Xy | Fro1) — Xno1) = 0.
O000k<n-100000000000 Y OODO
E(Y | Fy) = E(E(Y | Fa1)| Fk)
000000000 210000000 BeF 0OOOODO

/Y(w)P(dw):/ E(Y | Fno1)P(dw) (2.3)
B

B

000o00o0boooobD.0bo0bobooUl tower property DO OO0
ooom

Oo00U0OBeF, CF, 000000000 21000 (23)0000
00D0000000Y 000 1gpsp(X(n)-X(n—-1))00000k<n-1
oono

E(Iirsny (X(n) = X(n—1)) | Fi) = E(E(Y | Fucr) | Fi) =0
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gooo

k
EX(T)| Fr) = > L{rzny (X(n) — X(n — 1))
) X(kw) E<T(w)OOOO
| X(Tw),w) k>T(w)DO000
= X(T A k)
000000000 700000 TAnDOOOOODO0O E(X(TAn)| Fe)

000000000000X(TAn)O FrA,-000000F, D Fra, OO
000000000 tower property D0 0O0On >k 000

E(X(T An)| Frak) = E(EX(T An) | Fi) | Frar) = X(T NE)

good
00000oooOooooT>SsS000oo000 (F)-ooooT,soo
O00T7T<NOOODODDOOOOOOOO0OO0OO0OO0 AeFs 0o

/ X (T, w) P(dw) = / X(8,w)P(dw) (2.4)
A A

ooooooooooo sgoooooo

N

X(T(w),w)P(dw).
;/m{s_j} (T (w), ) P(dw)

AnN{S=j}eF 0000000000000

/ X(T(w),w) P(dw) = / X(T(w) A jyw) P(dw)
AN{S=j} An{S=j}

S<TOOO S=;000 TAj=j=S0000000
/ X(S(w),w)P(dw)
AN{S=j}

00000000 (24) 0000000000000
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2.2.1 Doob-Meyer 00000

00 24 000O0OOOOODO (F,) D0OOOOOOOOOOOUOOOOOO
00 {X(n)}eso 0 {F,}-00000000000000000 n>000
go

EX(n+1)|F,) > X(n) a.s.

0000000000000{-X(n)}x>0 0 (F,)-00000000000
000000000000000000000 {X(n)}nse 0 (Fn)-000
000000000000

00 2.7 (Doob-Meyer DO DOOO)
{X,} 0 (F)-00000000000O00DO

X(n)=M(n)+ A(n) (2.5)

000000000 »>0000000000 {M(rn)} 0O (F,)-0000
0000000{A(n)} 0 A(0)=000000000000000000
00 n>10000 A(n) 0 F,,-000000000 {A(n)} O (F,)-0
00 0000000000000000

ugbooboboooobaoboooobooboboobobooababo
gboogboobooboood

Doob-Meyer 00000000 OO0OO0OO0OOO0OOOOOO M(n)OOO
obooooobooooooboon

n

M(n) = X(0)+ ) (X(J) = BE(X() [ Fj-1))

J

O0o0oMmn) O F-000000

—

M(n+1)=Mmn)+X(n+1) - E(X(n+1)|F,)
00o0O0oooo
E(M(n+1)| F,) = M(n).
000 {M(n)} 0 (F)-00000000

n

X(n)=M(n) =3 (BX() | Fjm) = X(j - 1)

Jj=1
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0000000 A(n) 00000A(R) O F,_;-0000000000A(0) =0
00X,0000000000000

An) — A(n—1) = E(X(n) | Fn1) — X(n—1) >0

O0000A(n) 0000000
000000 X(n)=M(n)+A(n) 0000000000000

X(n) = M(n) + A(n) = N(n) + B(n)

0000000000M(n),N(n)DODOOOOO0DO0A(n),B(r)0000
0000000000000000

gooooo /,,-000000000O00O0ODOO0OOO
M(mn)—Nn)=EM(n)—N(n)|Fr-1)=Mmn—-1)—N(n-1)

gbooaboodan

0000000 M(n)=N(n),A(n)=B(n) 0000
00000000 (000000000000000000000000
0000000 Doob-Meyer 00000000000000000

00 2.8 X(n) O (F,)-00000000000000000 (F,)-000
07,S00007T>S8as. 000

E(X(T) | fs) Z XS a.s.

00 X(n)=M(n)+A(n) 000000M(m) 000000000 A(n)
0000000000A(T)>A(S)00000000000000

E(X(T) | Fs) =2 E(M(T) + A(S) | Fs) = M(S) + A(S).



